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F_AD_E6_B3_95_c67_473709.htm 52. The rising of costs of

data-processing operations at many financial institutions has created

a growing opportunity for independent companies to provide these

services more efficiently and at lower cost. A. The rising of costs B.

Rising costs C. The rising cost D. Because the rising cost E. Because

of rising costs 1. 句子完整性（一级排除D, E） 出现连词引导的

分句一定要有对应的主句。 Choices D and E produce sentence

fragments since Because makes the clause subordinate rather than

independent. 2. 主谓一致（一级排除B,E） 单复数 3. 逻辑意思

：（二级排除A） 从中心词看哪个意思表达最合理The rising 

还是 cost 提供了机会造成。。。 The rising cost / The rising of

costs has created a growing opportunity for independent companies

to provide these services more efficiently and at lower cost. Has

created 表示前面那个动作已经完成了, 完成的完整的过程, 不

能用动名词the rising of costsè gerund is only the name of an

action. 要么用the rising cost, 核心词在cost上面, 和a growing

opportunity并列, 要么用the rise in costè 但是就不平行了 4. 平

行结构：感觉文中有大并列的感觉：the rising cost⋯⋯a

growing opportunity 100Test 下载频道开通，各类考试题目直接
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